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1 XXXXXXXXXXXX67 HBE T 79 88 141 120 428
2 XXXXXXXXXXXX30 W 46 77 63 134 128 402
3 XXXXXXXXXXXX66 JE R A 75 71 135 117 398
4 | XXXXXXXXXXXX70 ] 81 75 108 133 397
5 XXXXXXXXXXXX84 Z 4| 81 66 121 128 396
6 XXXXXXXXXXXX94 7K 1 75 61 134 124 394
7 XXXXXXXXXXXX42 hE A 70 79 140 103 392
8 XXXXXXXXXXXX73 PPN 70 73 119 127 389
9 XXXXXXXXXXXX29 7 74 79 122 108 383

10 | XXXXXXXXXXXX50 =X, 75 63 134 109 381

11 | XXXXXXXXXXXX35 & BE 75 82 116 103 376

12 | XXXXXXXXXXXX77 FEXE 77 79 113 103 372

13 | XXXXXXXXXXXX22 4B 75 73 112 112 372

14 | XXXXXXXXXXXX64 NER 76 73 110 111 370
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1 XXXXXXXXXXXX32 R 77 69 145 127 418
2 XXXXXXXXXXXX17 X A 2% 82 61 125 128 396
3 XXXXXXXXXXXX13 B R 77 78 118 122 395
4 XXXXXXXXXXXX97 K 4r 76 72 110 128 386




5 XXXXXXXXXXXX15 X[ R A 77 73 114 112 376
6 XXXXXXXXXXXX12 HE B 76 79 109 108 372
7 XXXXXXXXXXXX50 X H 77 60 107 123 367
8 XXXXXXXXXXXX79 KR I+ 77 72 126 88 363
9 XXXXXXXXXXXX19 RER 79 66 94 123 362
10 | XXXXXXXXXXXX16 7K a1 75 69 94 123 361
11 | XXXXXXXXXXXX98 FAEZE 69 72 90 125 356




